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Mandarin has been around for thousands of years. It is the most widely spoken among all the
Chinese dialects/language. Learn simple Mandarin grammar with the guidelines here.

Mandarin Chinese sentence structure is a great way to start learning the language. Because it is
very easy to understand, it helps ease you into the tougher parts of learning the language. It also
helps you understand the basic qualities of the Chinese grammar.

THERE ARE 5 BASICSENTENCE STRUCTURES

e SUBJECT + VERB
ni is the subject that means “you”
wdn is the verb which means “play”

Ni wan together means “you play”

e SUBJECT + VERB + OBJECT
Ni is the subject that means “you”
wadn is the verb which means “play”
gt is the object that means “drums”

Ni wan gi means “you play drums”

e SUBJECT + TIME + VERB + OBJECT

Jin tian is a word that means today

Ni jin tian wdn gii means though this literally
reads “you today play drums”, this can be un-
derstood as “today you play drums”

Time is used after the noun or the subject to
emphasize the tense of the verb. Unlike in the
English language where the verb changes by
adding -ed or changing the verb entirely, the

verb wdn remains the same and the tense is in-
dicated by Jin tian which means today so the
tense of the verb is present tense.

e SUBJECT + VERB + OBJECT + ma
fRETERI,
Ni wdn gii ma
When you add 'Z (ma) at the end of the sen-
tence, it becomes a question. This can be used

for questions that are answerable by yes or no
only.

e SUBJECT + TIME + VERB

Ni jin tian wan means “you today play”
but can be understood as “you play to
day"

If the person speaking to you knows that you
play the drums, they will simply say this to
mean that the object is already implied or
known to both you and the speaker. There is
no need to add the actual words if you both al-
ready know what you are talking about. If the
speaker would want you to play another in-
strument or is talking about a different thing
that requires playing, they will simply add an-
other object.
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